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1. How many different positions can there be for a square
that must have corners at both (0, 1) and (0,0)¢
(A) One (B) Two (0) Three
(D) Four (E) Five,
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40, D

(0, 0)

RITGRBT IR, XA AT REEAN R — BRI
ERAHRANTEFAHUCATARINARRAELE .

MENRAEFERBAIERER, XEETSERG? YRR,
BENREGEERTREBMER S, SHRERB, HRGUTHR
ERAFWARNCAZPERUBWAELE . XA RBRAER,
RE 8% WA MBEN. BREHRA). (B) F, BRNE
NMERREL/3T.

XEARAE, ETSERRERETF LY, REEANENBR
EHRUXFARNAR? LRF, WEFR.
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BAERMNBEZAEFZHEFE, REEREC XERETS iy
BER.

BRI~ BAEBEN LSRRI R E A, RPN M
BRI BB R B R A TR T k. BB RERME
RAGHE, BRESERRENELLT,

BEEEN, —BRNREBERZHARANHAERDRRI
WER. BHEXFHTERIN SR AR, i,

2. A suit is selling for $100 after a 20 percent discount,

What was the original selling price?

*(A) $200 (B) $125 (C) $120 (D) $80 (E) $75

RN R, —BYIREFR“$100"R“20% WiTn® F
BREFET O, 448, 120 X 100 RTHHHZ 20, EXHE
AR, FRO NN,

D LIHERRH, HM B 100 RXTPEHZ 20, C DﬁFﬁE
Ji, BREME—-TTHERKER. £RA 200 RTHEBAK,
EREWERBER, RAITMBIRNMEATHRIETIMENH
o

W EER RS R

RBME, BREABIARFLR, EHRERNEREIKLH
REARTRHER, BREBLRRABELGHER, BHT
EREIREYFRASFEANTHER. BEREN, —RN
FREEEPRTERER. A,

3. After 6 gallons of water are transferred from container
A to container B, there are 10 gallons more water in
container A than in container B, container A origin-
ally had how many more gallons than container B?

(A) 0 (B)6 (C)1l0 (D) 16 (E) 22



BRI EB S REABEM PR TG RENREH
#RBAC FER, BRENBERT AP HBF. Hit, B
HeBR XA R A EI A IE R K — TR H 1/3.f1 T 6+ 10 =16, 7
DD WEREAMER, WHHRE, WA ETSERFTLE,

BEBETRBH HEAHS?

ETS # 3 HRL“ERFENCAE B PRH"HEFER,
GXERAIFTUR AR YR LB R, 7ER0R LB A, BT
RDHE “BFERABHEN™) ., YX—EHEERHAER RRAES
BEP SRR TN, ERTERETSHER.

YEHREEE P, BILFARAEZETSHER. Hf
4? BAEEES, RENKEHSHERN, ﬁ‘lﬁ&ﬁﬁ.ﬁ “B
RAMEHESH, °

L4 RTS ER—ABEAPHKH A “ERABEL" B, K
LAER. BAEXHBAT, PP HERETSHER.

B ® B

BREEERBERFBBEARNETZ—. HNEREE: A5
TEX, MAKHTHERERRARE, DRSARx, BEK
EEBEERRE ETS ER MBRARYL, BRAAG -1 ERER.
BEHPLBBEENEBRER, HPZ—HERETSHER. M
BRELERAFFHERER, REAA -V ZAEEERRE
KA ETSHR. XHFWLURERE, BEITKKOITHIE. 6

.
-4, Which of the following values of a does not satisfy 5a—

3< 32 +57?
(A) =2 (B) 0 (C)2 (D)3 (E) 4
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RINWRBH . XR-ATERHFER, ZERBFREAT
FRRX M, ERBORBEARERAERINER, BELER
BRENEAER, bk e BALRERN—U? TH/E, AT
& EREHEE R,

o35 1 A AT, ﬁﬁ&ﬂ&”%ﬁ@*ﬂ%ﬁé‘, BAERC
Fih ot A NFEFHR? B%GRE jEES RILFLEENK
FRFKNHES, AR EMBKHEFIR R R BIMES . R, .
ARG A AN ERERETER, WHEETAELETSER
MR AR RN KRG, TUFHNE, HREEKRR
AP BAEHER . BImERBHARMEFIN, RACRRANR
KD, RRANEBKHMEB, WRBHAKRD, RN ETS
EREA M, ZETRFEKREST . #l,

(C) B2RAHB 10-3<6+5, 71, Z‘%iﬁiﬁ]‘t, B

BAAT DAHEBR .

(B) 0-3<0+5, B —3<5, R&ERML, THE

(D) 15-3<9+5, B 12<14, R%ERR L, 7THEBR

(A) -10-3<=6+5, B} -13<-1, AWML, TH

BT LI ETS A RAEHE R B, 20-3<12+5, W
17<17, RERARIL,

W, MRAAC RHKRERRD ETS ﬂ%ﬁﬁjﬂiz %R
AUEHERAERD,

BE—H.

5. The units digit of a 2-digit number is 3 times the tens
digit. If the digits are reversed, the resulting number is

36 more than the original number, what is the original

number?

(A) 13 (B) 26 (C) 36 (D) 62 (E) 93

RAVN R IR ZOHIH 904, ETS B2HBRT 854
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A%, AERNTEHWRIFHR 44 AERG? LR
A, RIOFETREBHER,

BH S B WA B, —REAMIECRE AL 3 1,
BB R W OIR T U S5 W BE R K 36, BN
ETSERNHIRRHEXZAZME, FURBERBRE—-AFMEK
EFERTHE. THERNBERER——RABA—-1BERLMHEH®
HE.

(C) 6 R 313 Ay A2, WHERLEER.

(B) 6 R 2193 %2 B, AEREFWHEETS £#R,

(D) 2R 613 FWE? K&, THEREEER.

(A) 3R1M 3T &, UEREWHREETS B@%Eﬁo

(E) 3R 913 FY? 1&, WHERKER.

RERAMTA., BEEEERATHER, BAS_AEA
FHRR.

(A) 3113 K36M? A, HEREHER A, B ETS &
REERB, 62 FK 1L 26 X 36,

BRBURATERES, FIUERFERERINBHRE
WHEH T,

FlRTHXEER
ETS RAHFHX S BN REY R FEE R, fi,

6. A restaurant owner sold 2 dishes to each of his customers
at $4 per dish. At the end of the day, he had taken in

$180, which included $20 in tips. How many customers
did he serve? '

(A) 18 (B) 20 (C) 22 (D) 40 (E) 44
RIVMEREITE: MRETHEXER, ERRELRROK
RURZSr. WA —EBRHEERREH, B 20 S0 M A
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6%, THERE,
XHAEREHET., MREABEL 2 & 4ETWE, B
LAB/ANES 8 RTT. F 8 BR 160 48 20 MBIK, X¥E ETS%
o
H5, FENHEELETE, CSIPAERE, BERES
EETEELHE, BRBRESH. REJENRREES

R A B

ke, SAARERTRAADEE DX, BEF
ZRBHEBERPEELE, BYXXHEN, TEBRE—1
¥, REARAHE, BARAE. RAERSBR,

1. {/ATEWRME,

2. FRREMER FREER,

3. HMEARAZEER HhHMEZHBHAER—N
ERERRE ETS ER, '

4. R]\Bﬂ" _‘&%A%rﬁjﬁf&ﬁ’ Eﬂf’ﬁﬁ’.)\A, EsEﬁAB’
D#MC., i, o
7. fx+y=2, and 2=y, then all of the following are true

EXCEPT.

(A) 224 2y=22

(B) z-y=0

(C) s-2=9g-2

(D) z=2/2 -

(E) z-2=29y .
L REOWEBOTE. FERHBFRA LR TERBLE, TR
T,y Mz HER—AWREAWHSNEIE, Bie My BKH
2, B4 A 4 DEERES LS TR ENE, UBFE.

RERMEX LHESIRALERERD, B
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(A) 2(+2(2)=2(4), W 4+4=8, Ef, THEBRHER
BRGEEZEERRH SRR LHER).

(E) 4-2=2(2), BB 4-2=4, NEH, XEFEERLETS
AR,

(B) 2-2=0, 8, TWHb.

(D) 2=, TEH, FHHE,

(0) 2-4=2-4, EH, THR,
ARBLHARAZKL EARERSHE ETSER, #m,
8. The positive difference between the squares of any two

oconsecutive integers is always,

(A) the square of an integer

(B) a multiple of 5

(0) an even integer

(D) an odd number

(E) aprime number

RITHRBTTE, FBE PR always (BR) —H&RRIIN
SRR RR, R FEAT R EA S SR
KHP, Hm2R3EHELEY, 2HTEHR 4L SHEHR
9, ENZEMEX BER S, BERNKER-THEEE,

(A) 5 J%—"Pﬁﬁfﬂ“fiji"%? ;Fﬁ’ -ﬁ]‘ﬁkﬁo

(E) 5 RR¥Wr £, "R ETS £,

(B) 5 25 mifk¥e 2y, WHREETS &%,

(D) 5 R&HWr By, nIfBR ETS &R,

(C) 5 REEG? R&, Wik, "

BH—-KRABHAMCHR, BMAEBEEENEHS
AP 3. BRBAELRY, MO0R1, 0 KEHEO, 1 HEH
1, RELBHEERE L BEHFRARERTH 3 4A%5,

(B) 1258{F897 2, Hk,.

'0]_0.



(D) 1 2&H¥Dr i, "R ETS &%,

(E) 1 RFEHm? R, wTHE,

Biph, ETSEZRED,

ETS it &¥ERRPH — M ERR TN RESR Y, HE
X*&¢%ﬁﬁ%ﬁﬁoiﬁﬁ§5mT,R%%Hm%mWﬁ
FHRARAT . M.

9, If 3v= -2, then (3z-3)2=1

BRIV RBE I AESBRE P RBoTE RER

~ZRANBHRAT,
(32-3)2=(-2~3)2=(-5)2=25

4 LEHAER o R I, RARKR, B#, HER

B FERio

BB FERAL

RAWEEFEN LR AEREAEERT, B2, HAHK
A BT RERD ETS FR,

REMEHMERR LR XRRTRERS. —REN,
AHERABEE R, BIRTETARLANEE, RAD
KEREMﬁE.Mﬁﬁ2ﬁ3(Eﬁﬁﬁ&?:ﬁ%ﬁkoﬂ
1, 01 1 AR AR,

BE, MEARBERRLUN. AN SHELWNFRE,
¥ f 10 5% 100 BB HER AN, SHARPEE, 60R
REBRENRAE, BZ, RAEREBFFWR. M,

9. A street vendor has just purchased a carton containing
250 hot dogs. If the carton cost « dollars, what ‘is the
cost in dollars of 10 of the hot dogs? '

o o 10 %5
(A)75“ (B)'l—o‘ (G) 10z (D)T (E)T
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